%0(a,7)*°Ne caiculetions

Full Integral

L

Elastics

RT time

Corrected Integral

Example: Run8052

FC4 = 23 enA -> FC4 = 3.5883*10'" ions/s

Elastics in first 120 sec. = 948,

Total Elastics = 162002 = corrected integral, run time = 21930 s
948/120 = 7.9 ions/s -> 7.9 ione/s * 21930 s = 173247 = full integral
corrected/full = 162002/173247 = 0.935 = ¢, our scele factor for FC4
Total incident beem = FC4 * run time * ¢ = 7.36*10" ione

Expected pertiel yieid = 45 counts (this assumes that oy = 4.4 meV for the
roughly 765 keV/u resonance)

Coinc. Recoils = 18
cRec/Exp. Counts = 0.4, which is roughly the efficiency of the BGO array



Anede tie. ve. Emesgy Less for B = TT73.6 eViu and PIC = 1§ torr P(Ho)=6 08 teer
¢ £.50 007204+ 4 20044, win = $31°10* -6 mm
for Run 0061

—

—&— recoils data
Ne20 SR




Anedef ve. Energy Loss for O16(p.g)ie20
€ = TT7 8 heViu and PIC = 1§ v PE0)=7.18->7.37 torv
8.1.50.006277 +-0 00020, win = 140 pglcm*2

5.5

05— —

for Run 8106

[

—&— 8106 recaoils data
= Ne20 SRIM

0.5

A

45




Ancdef va. Emergy Less for O16(p.g)ie20
6 = 2 Vi, @ = ¢ and PIC = 1§ terr, Pile) = 4537 torr
o f. = 0. 000ND0+-0.000238, win = 130 mglcm*2

—a— 8032 recoils data
+— Ne20 SRIM




45

Anedef ve. Ensrgy Loss for Ot6(p.gitte29
ED = TT7.8 hoViu and PIC = 1§ torr P@He)=T 2 torr
6.£.70.006682+-0.00013, win = 140 pglcm*2
for Run 8106

35

Energy Loss (MeV)

15 +

N

—&— atten. beam daim

-

016 SRIM

0.5




Ancdef ve. Ensrgy Less for O16(p.g)iNe20
Eb = 971 koW, § = 7 and PIC = 16 torv, P(He) = 6.37 taevr
of. = 0.000008+-0.000007¢, win = 130 mgicm*2
for R 0037

- 3 i [~ 8037 beam data
4016 SRIM

(]
|
A



Amedief ve. Encrgy Less for O10(p gitte20
B = OF2 oV, q = 6 and PIC = § teey, P@{e) = 4 53 Goev
o f. = 0.006654+-0.000274, win = 130 mglcm*2

for Run 0029
“ — o — g b
25 |
'y
1
m 1.5 = —e— 8029 recoils data
& Ne20 SRIM
N
a L e — -
0s | = =
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